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QUESTION 1

A network architect is using the Network Traffic Analyzer (NTA) module for HP Intelligent Management Center (MC) to
evaluate traffic patterns in a campus LAN environment. The network architect hopes to use this information to determine
whether the current oversubscription is working well or whether the new plan to have less oversubscription.

What will provide the most useful information for this decision?

A. The peak utilization on uplinks

B. The sum of the average utilization on user edge ports

C. The peak utilization on randomly-selected user edge ports

D. The average utilization on uplinks

Correct Answer: A

QUESTION 2

A customer requires high availability for wireless services at branches. The customer also wants to centralize
management and traffic distribution as much as possible. What should the architect suggest?

A. Controlling branch APs with one or more HP 7500/10500 20G Wired-WLAN at the main office and enabling remote-
AP features

B. Controlling branch APs with a cluster of HP 830 Unified Wired-WLAN switches, one of which is deployed at the main
office and one of which is deployed at the branch

C. Deploying the APs without a controller but managing them with HP Intelligent Management Center (IMC) Wireless
Services Manager (WSM)

D. Controlling Branch APs with two HP 830 Unified Wired-WLAN switches, which are deployed at the main office

Correct Answer: D

QUESTION 3

Refer to the exhibit.
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The branch routers have E1 lines into the Frame Relay Service provider network. The exhibit shows just one branch,
but the network actually has 30 branches. The HP 6600 Series routers, which are the area border routers (ABRSs), have
E2

lines into the Frame Relay network.

The routers in the exhibit Open Shortest Path First (OSPF). The enable OSPF on network follows:

In area 2, OSPF is enabled on network 10.2.0.0/16 In area 0, OSPF is enabled on network 10.0.0.0/16

The customer requires resilience at the WAN core. Which design change best supports that requirement?

A. Add additional links from the HP 6600 Series routers to the WAN

B. On each branch router, add a floating static route to one of the ABRs in case the OSPF solution fails

C. Add a Gigabit link between the HP 6600 Series router with a network in area 0 and area 2.

D. At each branch, add a redundant link between the switch and the router

Correct Answer: B

QUESTION 4

A network architect is designing a redundancy solution for a customer and has learned that there is a single link
between two critical network components. During the past 4000 hours of operation, the link has failed twice. The
customer estimates that each failure has taken two hours to resolve.

Given this information, what is the availability that this link currently provides?
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A. Less than 99.99%
B. 99.9%

C. 99.99%

D. 99.999%

Correct Answer: B

QUESTION 5

A network architect has designed a two-tier topology for the campus LAN and is planning to implement routing at the
core. Which requirement might cause the network architect to consider implementing routing at the access layer?

A. Employees in different VLANSs need to use collaboration applications to share high- resolution graphic files
B. The solution must support an isolated VLAN for wired guest devices

C. Employees need to be placed in dynamic VLANS, assigned by a RADIUS server in identity, so that network
managers can manage the solution more easily

D. The customer has an HP Unified Wired-WLAN solution, and wireless users need to roam seamlessly across the site

Correct Answer: A
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